10

10

as vb

as vb

10

10

10

10



asacc

10*

10™

(+[#0])/| =90

10



z f(2,Q)

1400

1200

1000

800

600

400

200

xf v5, flav = g, ¢=10
xf v5, flav = g, ¢=50

xf v5, flav = g, ¢=1 x10?

xfv5, flav = g, ¢=2 x10?

xf v6,

xf v6

xf v6,

xf v6,

flav =g,
, flav =g,
flav = ¢,
flav =g,
, flav = g,
, flav = g,
, flav = ¢,
flav =g,

q=10

q=>50

q=1x10?
g=2x10?
q=5x10?
q=1x10%
g=2x10°

q=5x10%
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— xfacc, flav = g, ¢=10 — xfacc, flav = g, ¢=5 x10?
—  xfacc, flav = g, ¢=50 E— xfacc, flav = g, ¢=1 x10°

xfacc, flav = g, ¢=1 x10? xfacc, flav = g, ¢=2 x10°

xfacc, flay = g, ¢=2 x10? xfacc, flav = g, ¢=5 x10°

. 1 P
; I ﬁ :

T >3

10 10



x=0.0001

xfv5, flav = g, z=0.01 xf v6, flav = g, =0.01

1 0-3 [~ - xfv5, flav=g,z=01 77" xf v6, flav = g, z=0.1 -

I xfwh, flav=g, =02 77" xf v6, flav = g, =0.2

1 0-4 u I xfv5, flav=yg, =05 o 7" xf v6, flav = g, z=0.5 -]
xf v5, flav = g, x=0.8 xf v6, flav =g, z=0.8

1 0-5 0 I 1 I 2 I 3

10 10 10 10 10
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10

10 =

—

L
xfacc, flav = g, 2 =1 x107%
xfacc, flav = g, 2 =1 x107°
xfacc, flav = g, x =0.0001

xfacc, flav = g, x=0.01

xfacc

xfacc

xfacc

xfacc

, flav =g, =0.1
, flav =g, x=0.2
, flav = g, z=05

, flav =g, =08

10



z f(z,Q)

40

35

30

25

20

15

10

— xfv5, flav=d, ¢=10 " xf v6, flav = d, ¢=10

| — xfv5, flav=d, ¢=50 "7 xf v6, flav = d, ¢=>50
— xfv5, flav = d, g=1x10> " xf v6, flav = d, ¢=1 x10?
xfv5, flav = d, ¢=2 x10> xf v6, flav = d, ¢=2 x10°
i xfv5, flav = d, ¢g=5x10> xf v6, flav = d, g=>5 x10?
— xfv5, flav = d, ¢g=1x10° " xf v6, flav = d, =1 x10°
i xfvs, flav =d, ¢g=2x10° " xf v6, flav = d, ¢=2 x10°
fi5, flav = d, ¢=>5 x10® xf v6, flav = d, ¢=5 x10°

A A A A L el A . P — rorerpre;

1107 10° 107 10° 10° 10* 10°  10® 10
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10

10

10

B

xfacc, flav = d, ¢=10

xfacc, flav = d, ¢=>50

xfacc, flav = d, =1 x10?

xfacc, flav = d, =2 x10?

B

e

—_—

MR | N L

xfacc, flav = d, ¢=>5 x10?
xfacc, flav = d, =1 x10°
xfacc, flav = d, ¢=2 x10°

xfacc, flav = d, =5 x10°

10

10

10

10



1 0'2 - T xf v5, flav = d, =1 x10"*
— xf v5, flav = d, =1 x10"°

— xf v5, flav = d, =0.0001

xfv6, flav = d, z =1 x10"°

xf v6, flav = d, =1 x10"6

xf v6, flav = d, =0.0001

3L |
1 0 i xf v5, flav = d, 2 =0.01 xf v6, flav = d, x=0.01 )
— xfvs, flav=d, =01 " xfv6, flav = d, =0.1
-4 — xfvb, flav=d, =02 =111 xf v6, flav = d, z=0.2
10 " ]
I xfvb, flav=d,z=05 7" xfv6, flav = d, z=0.5
| xfv5, flav = d, 2 =0.8 xf v6, flav = d, z=0.8
-5 . e .
10 0 I 1 I 2 I 3
10 10 10 10 10



|fo—1f51/(1f5] +e€)

10 ML 1 1
xfacc, flav = d, z =1 x10"% — xfacc, flav = d, ©=0.1
xfacc, flav = d, z =1 x107° — xfacc, flav = d, 2 =0.2
xfacc, flav = d, £ =0.0001 I xfacc, flav = d, 2=0.5
xfacc, flav = d, ©=0.01 xfacc, flav = d, =0.8
4 |
10 °
-5 . A .
10 0 l l 2 l 3
10 10 10 10 10



z f(z,Q)
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10

xf v5,

xf v5,

xf v5,

xf v5,

xf v5,

xf v5,

xf v5,

f\vb,

flav = d,
flav = d,
flav = d,
flav = d,
flav = d,
flav = d,
flav = d,

flav = d,

q=1x10?
=2 x10?
q=5x10?
q=1x10"

q=2 x10°

q=5x10°

xf v6

xf v6,
xf v6,

xf v6,

xf v6

xf v6,

xf v6,

, flav = d, ¢=10
flav = d, ¢=50
flav = d, g=1 x10?

flav = d, ¢=2 x10?

, flav = d, ¢=5 x10°

flav = d, g=1 x10°

flav = d, ¢=2 x10°

, flav = d, ¢=5 x10°
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10

10

10

B

xfacc, flav = d, ¢=10
xfacc, flav = d, =50
xfacc, flav = d, g=1 x10?

xfacc, flav = d, =2 x10?

————

.

L e L L

xfacc, flav = d, ¢=>5 x10?
xfacc, flav = d, =1 x10°
xfacc, flav = d, ¢=2 x10°

xfacc, flav = d, =5 x10°

10 10%® 107 10

10

10 10 10 10 10



z f(z,Q)

10 ™ ™ ™
1 i
10" 1
0 i
107 1
-1
10 —m————M
2 i
10° 1
-3 i
107
4 i
10 °
-5 xfvs, flav/=d, e=1x10% xf v6, flav = d, =1 x10"% |
107
xfv5, flav=d, z=1x10"% xfv6, flav = d, z =1 x10"°
-6 | i
10 xfv5, flav = d, z=0.0001 777 xf v6, flav = d, = =0.0001
-7 xfv5, flav = d, ©=0.01 xfv6, flav = d, 2=0.01
10° N
xfvs, flav=d,z=01 777 xfv6, flav = d, =0.1
-8 i
10 1 xfvs, flav=d, z=02 " xf v6, flav = d, =0.2
9 xfv5, flav=d, z=05 777 xf v6, flav = d, =0.5
107 )
xfv5, flav = d, =0.8 xf v6, flav = d, =0.8
-10 . . .
10 I 1 I 2 I 3
10 10 10 10 10
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1 O T ML T
xfacc, flav = d, =1 x10"% — xfacc, flav = d, £ =0.1
xfacc, flav = d, =1 x10"°¢ - xfacc, flav = d, =0.2
xfacc, flav = d, z =0.0001 xfacc, flav = d, 2=0.5
xfacc, flav = d, 2 =0.01 xfacc, flav = d, 2 =0.8
-4
10 ]
-5 . . .
1 0 l l 2 l 3
10 10 10 10 10
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20

15

10

— xfv5, flav=w, ¢g=10 """ xf v6, flav = u, ¢=10
| — xfv5, flav=w,¢q=50 " xf v6, flav = u, ¢=50 ]
— xfv5, flav = u, g=1x10> " xf v6, flav = u, ¢=1 x10?
xf v5, flav = u, =2 x10? xf v6, flav = u, ¢=2 x10?
i xfv5, flav = u, ¢=5 x10> xf v6, flav = u, ¢=5 x10?
= xfv5, flav = u, g=1x10° " xf v6, flav = u, ¢=1 x10°
i xfvs, flav = u, g=2x10>° xf v6, flav = u, ¢=2 x10° ]
f5, flav = u, ¢=5 x10° xf v6, flav = u, ¢=5 x10°
. R R R R | el . “‘7” P
1107 10° 107 10° 10° 10* 10°  10® 100 10
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10

10

10

xfacc, flav = u, ¢=10

xfacc, flav = u, ¢=50

xfacc, flav = u, ¢=1 x10?

xfacc, flav = u, ¢=2 x10*

e

B

T 1
xfacc, flav = u, ¢=5 x10>
xfacc, flav = u, ¢=1 x10*
xfacc, flav = u, ¢=2 x10°

xfacc, flav = u, ¢=5 x10°




z f(z,Q)

10

10

10

10

xfv5, flav = u, =1 x10""
xf v5, flav = u, 2 =1 x10"°¢
xf v5, flav = u,  =0.0001
xf v5, flav = u, z=0.01
xfvh, flav = u, 2 =0.1
xfv5, flav = u, z=0:2
xfv5, flav = u, 2=0.5

xf v5, flav = u, x=0.8

xf v6, flav = u, 2 =1 x10~%
xf v6, flav = u, 2 =1 x107°
xf v6, flav = u, =0.0001
xf v6, flav = u, z=0.01

xf v6, flav = u, z=0.1

xf v6, flav = u, =0.2
xfv6, flav = u, 2=0.5

xf v6, flav = u, =0.8

10

10
Q

10
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10

xfacc, flav = u,
xfacc, flav = v,
xfacc, flav = u,

xfacc, flav = u,

r=1x10"%

z=1x10"°

x=0.0001

x=0.01

xfacc, flav = u,
xfacc, flav = v,
xfacc, flav = v,

xfacc, flav = u,

z=0.1

xr=0.2

z=0.5

z=0.8

10

10



z f(z,Q)
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30

25

20

15

10

xf v5,

xfv5

xf v5,

xf v5,

xf v5

xf v5,

xf v5,

flav = 4, ¢=10

, flav = 4, ¢=50

flav = @, g=1 x10?

flav = @, ¢=2 x10?

, flav = @, ¢=5 x10?

flav = @, g=1 x10°

flav = @, ¢=2 x10°

q=5x10%

flav = @, ¢=2 x10>

, flav = @, ¢=5 x10?

xf v6, flav = u, ¢=10
xfv6, flav = 4,

xf v6, flav = 4,

xf v6,

xf v6

xf v6, flav = 4,

xf v6,

flav = @, ¢=2 x10°

flav = @, ¢=5 x10°
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10

10

10

xfacc, flav = 4, ¢=10

xfacc, flav = 4, ¢=50

xfacc, flav = @, ¢=1 x10?

xfacc, flav = @, ¢=2 x10*

———

T 1
xfacc, flav = @, ¢=5 x10>
xfacc, flav = @, ¢=1 x10°
xfacc, flav = @, ¢=2 x10°

xfacc, flav = @, ¢=5 x10°

10

10

10

10

10

10

w

10

10

10



xfv5, flav =4, z=1x10"% " xf v6, flav = 4, 2 =1x10"%
xfv5, flav =4, z=1x10"¢% xf v6, flav = 4, 2 =1x10"°
xfv5, flav = @, z=0.0001 """ xf v6, flav = a, = =0.0001
xf v5, flav = @, z=0.01 xf v, flav = @, z=0:01

xfvs, flav=4, =01 xf v6, flav = @, z=0.1
xfvb, flav=4,2z=02 77" xf v6, flav = 4, 2=0,2
xfv5, flav=4,2z=05 77" xf v6, flav = 4, 2=0:5

xfv5, flav = 4, 2=0.8 xf v6, flav = 4, =0.8

10
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10

xfacc, flav = 4,
xfacc, flav = 4,
xfacc, flav = 4,

xfacc, flav = 4,

r=1x10"%

z=1x10"°

x=0.0001

x=0.01

xfacc, flav = 4,
xfacc, flav = 4,
xfacc, flav = 4,

xfacc, flav = 4,

z=0.1

xr=0.2

z=0.5

z=0.8

10

10



z f(z,Q)

40

35

30

25

20

15

10

xf v5,

xfv5,

xf v5,

xf v5,

xf v5,

xf v5,

xf v5,

flav = s, ¢=10

flav = s, ¢=50

flav = s, g=1 x10?
flav = s, ¢=2 x102
flav = s, ¢=5 x10?
flav = s, g=1 x10°
flav = s, ¢=2 x10°
flav = s, ¢=5 x10°

xf v6,

xf v6

xf v6,

xf v6,

xf v6

xf v6,

xf v6,

xf v6,

flav = s, ¢=10
, flav = s, ¢=50
flav = s, ¢=1 x10?

flav = s, ¢=2 x10?

, flav = s, ¢=>5 x10?

flav = s, ¢=1 x10°
flav = s, ¢=2 x10°

flav = s, ¢=5 x10°
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L L B L R A AL B L AL EL LA
xfacc, flav = s, ¢=10 xfacc, flav = s, ¢=5 x10?
xfacc, flav = s, ¢=50 xfacc, flav = s, ¢=1 x10°
xfacc, flav = s, ¢=1 x10? xfacc, flav = s, ¢=2 x10°
xfacc, flav = s, ¢=2 x10? xfacc, flav = s, ¢=5 x10°

10°  10° 10



z f(z,Q)

(@)
T

xf v5,
xf v5,
xf v5,
xf v5,
xf v5,
xf v5,
xf v5,

xf v5,

flav = s, £ =1x10"%

xfv6, flav = s,
xf v6, flav = s,
xfv6, flav = s,
xfv6, flav = s,
xfv6, flav = s,
xfv6, flav = s,
xfv6, flav = s,

xf v6, flav = s,

z=1x10"%
z=1x10"°
x=0.0001
z=0.01
z=0.1
z=0.2
z=0.5

z=0.8

flav =5, z=1x10"°
flav = s, £ =0.0001
flav = s,  =0.01
flav = s, =0.1
flav = s, =0.2
flav =s, =0.5
flav = s, =0.8
ol
10

1

10
Q

10

10
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10

10

ML
xfacc, flav = s,
xfacc, flav = s,
xfacc, flav = s,

xfacc, flav = s,

z=1x10"%

z=1x10"°

z=0.0001

z=0.01

xfacc

xfacc

xfacc

xfacc

, flav = s,
, flav = s,
, flav = s,
, flav = s,

z=0.1

=0.2

x=0.5

x=0.8

10

10



z f(z,Q)

40

35

30

25

20

15

10

xf v5, flav =3, ¢=10
xf v5, flav = 3, ¢=50

xf v5, flav = 5, ¢=1 x10°

xfv5, flav = 35, ¢=2 x10?

xf v6,

xf v6,

xf v6,

xf v6,

flav =3, ¢=10

flav =35, ¢=50

flav = 5, ¢=1 x10?
flav = 5, ¢=2 x10?
, =5 x10?
q=1x10°
, =2 x10°

q=>5 x10°
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10

10

10

xfacc, flav =3, ¢=10

xfacc, flav = 5, ¢=50

xfacc, flav = 3, ¢=1 x10?

xfacc, flav = 5, ¢=2 x10>

B

_—

B )

T 1
xfacc, flav = 5, ¢=5 x10>
xfacc, flav = 5, ¢=1 x10°
xfacc, flav = 5, ¢=2 x10°

xfacc, flav = 3, ¢=5 x10°

10

10

10

10




z f(z,Q)

1 O ML o1 1
1
10" 1 .
0
107 1 ]
-1
107 | :
-2
10° 1 i
-3
107 )
-4
10 ° )
-5 xfv5, flav =3, =1 x10"% xfv6, flav =3, 2 =1 x10"%
107 N
xfv5, flav =3, =1 x10"°¢ xfv6, flav =3, 2 =1 x10"°
-6 | _
1 0 xf v5, flav = 5, £ =0.0001 xf v6, flav = 5, z =0.0001
-7 xfv5, flav =73, £=0.01 xf v6, flav = 3, 2 =0.01
10° N
xfvh, flav =73, £=0.1 xf v6, flav = 35, =0.1
-8
1 0 B xfv5, flav =3, 2=0.2 xfv6, flav =3, £=0.2 ]
9 xfv5, flav =3, 2=0.5 xf v6, flav = 35, =0.5
107 )
xfv5, flav =3, 2=0.8 xf v6, flav = 35, =0.8
-10 . . .
10 I 1 I 2 I 3
10 10 10 10 10

Q
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10

10

ML
xfacc, flav =3,
xfacc, flav =3,
xfacc, flav =3,

xfacc, flav =3

z=1x10"%

z=1x10"°

z=0.0001

, ©=0.01

xfacc

xfacc,
xfacc,

xfacc,

, flav =3,
flav =73
flav =3
flav =3

z=0.1

s, £=0.2

5, =05

, =08

10

10



z f(z,Q)

0.06

0.05

0.04

0.03

0.02

0.01

0.00

— xfv5, flav=y¢,¢=10 """ xf v6, flav = ¢, ¢=10
— xfvh, flav=y¢,¢=50 xf v6, flav = ¢, ¢=50
- — xfv5, flav = ¢, g=1x10> " xf v6, flav = ¢, ¢=1 x10?
xf v5, flav = ¢, ¢=2 x10? xf v6, flav = ¢, ¢=2 x10°
— xfv5, flav = ¢, g=5x10> "t xf v6, flav = ¢, ¢=>5 x10?
— — xfv5, flav=¢, g=1x10° """ xf v6, flav = ¢, ¢=1 x10°
— xfv5, flav =¢, ¢g=2x10° xf v6, flav = ¢, ¢=2 x10°
xf v5, flav = ¢, ¢=5 x10° xf v6, flav = ¢, ¢=5 x10°
L | l L M| L 1 — | L L | L L
1 10°  10° 107 10° 10 10 o 10% 107




z f(z,Q)

0.06

0.05

0.04

0.03

0.02

0.01

0.00

— xfv5, flav=c¢,¢=10 7' xf v6, flav = ¢, ¢=10
— xfvh, flav=7¢,¢=50 T xf v6, flav = ¢, ¢=50
- — xfv5, flav = ¢ ¢g=1x10> """ xfv6, flav = ¢, ¢=1 x10>
xf v5, flav = ¢, ¢=2 x10? xf v6, flav = ¢, ¢=2 x10°
— xfv5, flav = ¢, ¢g=5x10> " xf v6, flav = ¢, ¢=>5 x10?
— — xfv5, flav=g¢, ¢=1x10° " xfv6, flav = ¢, ¢=1x10° ]
— xfvs, flav =7¢, ¢=2x10° " xf v6, flav = ¢, ¢=2 x10°
xf v5, flav = ¢, ¢=5 x10° xfv6, flav =¢, g=
L | | L M| L | P L | L | L | L | L
1 10° 10° 107 10° 10° 10* 10° 10® 10" 10



z f(z,Q)

0.06

0.05

0.04

0.03

0.02

0.01

0.00

— xfv5, flav=1"%,¢=10 """ xf v6, flav = b, ¢=10
— xfvh, flav=",¢=50 T xf v6, flav = b, ¢=50
- — xfv5, flav = b, g=1x10> " xfv6, flav = b, g=1 x10>
xf v5, flav = b, ¢=2 x10? xf v6, flav = b, =2 x10°
— xfv5, flav = b, g=5x10> " xf v6, flav = b, ¢=>5 x10?
— — xfv5, flav = b, g=1x10>° " xfv6, flav = b, g=1 x10° ]
— xfv5, flav = b, ¢g=2x10° xf v6, flav = b, ¢=2 x10°
xf v5, flav = b, ¢=5 x10° xf v6, flav = b, ¢=>5 x10°
L | l L M| L 1 — | L L | L | L
1 10°  10° 107 10° 10 10 ° o 10% 100 10



z f(z,Q)

0.06

0.05

0.04

0.03

0.02

0.01

0.00

— xfvs, flav="5,¢=10 °° xf v6, flav = b, ¢=10
- xfvs, flav=">5,¢=50 """ xf v6, flav = b, =50
- — xfv5, flav = b, g=1x10> " xfv6, flav = b, g=1 x10>
xf v5, flav = b, ¢=2 x10? xf v6, flav = b, =2 x10°
— xfv5, flav = b, g=5x10> " xf v6, flav = b, ¢=>5 x10?
— — xfv5, flav = b, g=1x10>° " xfv6, flav = b, g=1 x10>° ]
— xfv5, flav = b, ¢g=2x10° xf v6, flav = b, ¢=2 x10°
xf v5, flav = b, ¢=5 x10° xf v6, flav = b, ¢=>5 x10°
L | l L M| L 1 — | L L | L | L
1 10°  10° 107 10° 10 10 ° o 10% 100 10



